[lpuMmeHeHune
dopmynbi
Pa3HOCTU KBagapaToB

Yuutenb matemaTtukm wkonbl Ne 352 Penen .M.



1)123° —67° 5)c* =107

2) (8 —a)? 6) (8m +1)°

3)(2a)’ -(3b):  7)(12 —ény

4) (6+7y) 8) (2x—1)"-(4y)’




o-m -(@e-m@+m)



1) a2-25=(a-;/5)(a+;15)

2) 64-c2=(8-c)(8;c)

3) 0,36 - x2 =(0,}56-x)(0,?(6+x)
49

4) (7p-3)(7p+3)=7p2-9

5) (9y-1)(1+9y)=1-81y2 81y2-1

6) 6-a2=(6—/awa+/a)



Pa3no>xunrte MHOIroU4JieH Ha

a) 49 — x2 6) vy —4c’
6) (5a-4)
2-25a72

2) (x = 3y)’— (2x +y)°



BbinosiHUTE YMHO>@XeéHnne MHOro41,ieHoB.

a) (bm2 - 2n)(5m2+2n)

6) (x +2)(x2-4)(x - 2)



Hanaurte 3HauyeHue BblpaeHusN:

47° —33°
56 —28*




YnpocTuTe BblpaXeHue:

(2y - 7)(2y +7) — 4y(y+5)



10m°

3anoJIHUTE <« OKOLUKMW >
oAHO4YJIEHaMM TaK, YTOODbI
BbIMOJIHAJIOCb PpaBeHCTBO

— 9p”

~ 100m°— 81n*

)(

10m° |+ 9n° )




